B4 FAE=rhER
AIER : Fri28E8H23H

&2 AEBH A=
Tm 50cm Ocm

1 HESZMRKTR 0.084 0.084 0.078
2 BEER AKX 0.114 0.120 0.148
3 BREBEFIL-FU7 0.092 0.084 0.094
4 BRERRIV-FIT 0.086 0.092 0.082
5 REPRAKTR 0.092 0.088 0.080
6 BREEFILV-FU7 0.092 0.092 0.100
7 BEEESR)L-FU7 0.080 0.094 0.100
8 HAETEZRKTR 0.092 0.100 0.112
9 REZEMKTR 0.108 0.108 0.100
10 |ABERRKTR 0.076 0.090 0.108
1M |RBEEIL—FT 0.102 0.104 0.118
12 |[REEIL—FT 0.120 0.120 0.132

&XE 0.120 0.120 0.148

=/ME 0.076 0.084 0.078

FHiE 0.095 0.098 0.104




